

Resuelva las siguientes inecuaciones:

1) $x - 5(x + 2) \geq -2(2x + 6)$ $R/S = \mathbb{R}$.

2) $\frac{-2}{y-3} \geq \frac{1}{y} + \frac{6}{9-y^2}$ $R/S =]-\infty, -3[\cup [-\sqrt{3}, 0[\cup [\sqrt{3}, 3[$.

3) $\frac{2x}{x^2-1} + \frac{5}{x+1} \geq \frac{x}{x-1}$ $R/S =]-1, 5] \setminus \{1\}$.

4) $\frac{-3}{x-2} - \frac{1}{(x-1)^2} \leq \frac{1}{x-2}$ $S = \left[\frac{7-\sqrt{17}}{8}, 1[\cup \left[1, \frac{7+\sqrt{17}}{8} [\cup]2, +\infty[$.

5) $3 - 7|1 - 5x| > -25$ $R/S =]-\frac{3}{5}, 1[$.

6) $\frac{(-4x^3 - 3x^2 + 7x)(x^2 + 1)}{16x^2 - 49} \geq 0$ $R/S =]-\infty, \frac{-7}{4}[\cup]\frac{-7}{4}, 0] \cup [1, \frac{7}{4}[$.

7) $7 - 2|2 - 4w| - 3 < 1$ $R/S =]-\infty, \frac{1}{8}[\cup]\frac{7}{8}, \infty[$.

8) $\frac{3-x}{x-2} < \frac{x-5}{1-x}$ $R/S =]1, 2[\cup \left] \frac{7}{3}, +\infty [$.

9) $-x^3 + 2x^2 + 5x - 6 \geq 0$ $R/S =]-\infty, -2] \cup [1, 3]$.

$$1) \quad x - 5(x + 2) \geq -2(2x + 6)$$

$$\begin{aligned} x - 5x - 10 &\geq -4x - 12 \\ -4x - 10 &\geq -4x - 12 \\ -10 &\geq -12 \\ s &= \mathbb{R} \end{aligned}$$

$$2) \quad \frac{-2}{y-3} \geq \frac{1}{y} + \frac{6}{9-y^2}$$

$$\begin{aligned} \frac{-2}{y-3} &\geq \frac{1}{y} + \frac{6}{(3+y)(3-y)} \\ \frac{-2}{3-y} &\geq \frac{1}{y} + \frac{6}{(3+y)(3-y)} \end{aligned}$$

$$\frac{2 \cdot y(3+y)}{y(3+y)(3-y)} \geq \frac{(3+y)(3-y) + 6 \cdot y}{y(3+y)(3-y)}$$

$$\frac{6y + 2y^2}{y(3+y)(3-y)} \geq \frac{1 - y^2 + 6y}{y(3+y)(3-y)}$$

$$\frac{6y + 2y^2 - 1 + y^2 - 6y}{y(3+y)(3-y)} \geq 0$$

$$\frac{3y^2 - 1}{y(3+y)(3-y)} \geq 0$$

$$\frac{3(y^2 - \frac{1}{3})}{y(3+y)(3-y)} \geq 0$$

$$\frac{3(y - \sqrt{\frac{1}{3}})(y + \sqrt{\frac{1}{3}})}{y(3+y)(3-y)} \geq 0$$

	$-\infty$	-3	$-\sqrt{3}$	0	$\sqrt{3}$	3	$+\infty$
$y - \sqrt{3}$	-	-	-	0	+	+	+
$y + \sqrt{3}$	-	-	0	+	+	+	+
y	-	-	-	0	+	+	+
$3+y$	-	0	+	+	+	+	+
$3-y$	+	+	+	+	+	0	-
	+	-	+	-	+	-	-

$$s =]-\infty, 3[\cup [-\sqrt{3}, 0[\cup]0, \sqrt{3}[\cup]3, +\infty[$$

$$3) \quad \frac{2x}{x^2 - 1} + \frac{5}{x + 1} \geq \frac{x}{x - 1}$$

$$\frac{2x}{(x+1)(x-1)} + \frac{5}{x+1} \geq \frac{x}{x-1}$$

$$\frac{2x + 5(x-1) - x(x+1)}{(x+1)(x-1)} \geq 0$$

$$\frac{2x + 5x - 5 - x^2 - x}{(x+1)(x-1)} \geq 0$$

$$\frac{-x^2 + 6x - 5}{(x+1)(x-1)} \geq 0 \quad \frac{-x^2 + 6x - 5}{-x^2 + 6x - 5}$$

$$\frac{(x-5)(1-x)}{(x+1)(x-1)} \geq 0$$

	$-\infty$	-1	1	5	$+\infty$
$x-5$	-	-	-	0	+
$1-x$	+	+	0	-	-
$x+1$	-	0	+	+	+
$x-1$	-	-	0	+	+
	-	+	+	-	-

$$s =]-1, 1[\cup]5, +\infty[$$

$$s =]-1, 5[- \{1\}$$

$$4) \quad \frac{-3}{x-2} - \frac{1}{(x-1)^2} \leq \frac{1}{x-2}$$

$$\frac{-3}{x-2} - \frac{1}{(x-1)^2} - \frac{1}{x-2} \leq 0$$

$$\frac{-3(x-1)^2 - [(x-2) - (x-1)^2]}{(x-1)^2(x-2)} \leq 0$$

$$\frac{-3(x^2 - 2x + 1) - x + 2 - (x^2 - 2x + 1)}{(x-1)^2(x-2)} \leq 0$$

$$\frac{-3x^2 + 6x - 3 - x + 2 - x^2 + 2x + 1}{(x-1)^2(x-2)} \leq 0$$

$$\frac{-4x^2 + 7x - 2}{(x-1)^2(x-2)} \leq 0$$

$$\frac{-(4x^2 - 7x + 2)}{(x-1)^2(x-2)} \leq 0$$

$$\frac{4x^2 - 7x + 2}{(x-1)^2(x-2)} \geq 0$$

$$\Delta = 49 - 4 \cdot 4 \cdot -2$$

$$\Delta = 49 - 32$$

$$\Delta = 17$$

$$\frac{-2 \pm \sqrt{17}}{-4} = x$$

$$x_1 = \frac{2 - \sqrt{17}}{2}, \quad x_2 = \frac{2 + \sqrt{17}}{2}$$

$$\frac{(x-x_1)(x-x_2)}{(x-1)^2(x-2)} \geq 0$$

	$-\infty$	$\frac{2-\sqrt{17}}{2}$	1	$\frac{2+\sqrt{17}}{2}$	2	$+\infty$
$x-x_1$	-	0	+	+	+	+
$x-x_2$	-	-	-	0	+	+
$(x-1)^2$	+	+	0	+	+	+
$x-2$	-	-	-	-	0	+
	-	+	+	-	+	-

$$s =]-\infty, 2[\cup \left[\frac{2-\sqrt{17}}{2}, \frac{2+\sqrt{17}}{2} \right] - \{1\}$$

$$s = \left[\frac{2-\sqrt{17}}{2}, 1 \right[\cup \left[\frac{2+\sqrt{17}}{2}, 2 \right[\cup]2, +\infty[$$

$$5) \quad 3 - 7|1 - 5x| > -25$$

$$-7|1 - 5x| > -28$$

$$|1 - 5x| < 4$$

$$-4 < 1 - 5x < 4$$

$$-5 < -5x < 3$$

$$1 > x > -\frac{3}{5}$$

$$S =]-\frac{3}{5}, 1[$$

$$6) \quad \frac{(-4x^3 - 3x^2 + 7x)(x^2 + 1)}{16x^2 - 49} \geq 0$$

$$\frac{-x(4x^2 - 3x + 7)(x^2 + 1)}{(4x+7)(4x-7)} \geq 0$$

$$\frac{-x(4x+7)(x-1)(x^2+1)}{(4x+7)(4x-7)} \geq 0$$

$$-\infty \quad \frac{1}{4} \quad 0 \quad 1 \quad \frac{1}{2} \quad +\infty$$

-x	+	+	0	-	-
4x+7	-	+	+	+	+
x-1	-	-	-	+	+
x^2+1	+	+	+	+	+
4x+7	-	+	+	+	+
4x-7	-	-	-	-	+
	+	+	-	+	-

$$S =]-\infty, \frac{1}{4}[\cup]0, 1[\cup]1, \frac{1}{2}[$$

$$7 - 2|2 - 4w| - 3 < 1$$

$$-2|2 - 4w| < 1 + 3 - 7$$

$$-2|2 - 4w| < -3$$

$$|2 - 4w| > \frac{3}{2}$$

$$2 - 4w > \frac{3}{2} \quad 2 - 4w < -\frac{3}{2}$$

$$2 - \frac{3}{2} > 4w \quad 2 + \frac{3}{2} < 4w$$

$$\frac{1}{2} - \frac{3}{4} > w \quad \frac{7}{4} < w$$

$$\frac{1}{4} > w \quad \frac{7}{4} < w$$

$$\frac{1}{8} > w \quad \frac{7}{8} < w$$

$$\frac{1}{8} > w \quad S_{\text{fin}}]\frac{7}{8}, +\infty[$$

$$S_{\text{inf}}]-\infty, \frac{1}{8}[$$

$$S =]-\infty, \frac{1}{8}[\cup]\frac{7}{8}, +\infty[$$

$$8) \quad \frac{3-x}{x-2} < \frac{x-5}{1-x}$$

$$\frac{3-x}{x-2} - \frac{x-5}{1-x} < 0$$

$$\frac{(3-x)(1-x) - (x-5)(x-2)}{(x-2)(1-x)} < 0$$

$$\frac{3 - 3x - x + x^2 - (x^2 - 2x - 5x + 10)}{(x-2)(1-x)} < 0$$

$$\frac{3 - 4x + x^2 - x^2 + 7x - 10}{(x-2)(1-x)} < 0$$

$$\frac{3x - 7}{(x-2)(1-x)} < 0$$

$$-\infty \quad 1 \quad 2 \quad \frac{7}{3} \quad +\infty$$

3x-7	-	-	0	+
x-2	-	-	+	+
1-x	+	-	-	-
	+	-	+	-

$$S =]1, 2[\cup]\frac{7}{3}, +\infty[$$

$$1) -x^3 + 2x^2 + 5x - 6 \geq 0$$

$$\begin{array}{cccc|c} -1 & 2 & 5 & -6 & 1 \\ & -1 & 1 & 6 & \\ \hline -1 & 1 & 6 & 0 & \end{array}$$

$$(x-1)\underset{\substack{-x \\ x}}{-x^2+x+6} \geq 0$$

$$(x-1)\underset{\substack{3-x \\ 3=x}}{(3-x)}\underset{\substack{x+2 \\ x=2}}{(x+2)} \geq 0$$

	$-\infty$	-2	1	3	$+\infty$
$x-1$	-	-	0	+	+
$3-x$	+	+	+	0	-
$x-2$	-	0	+	+	+
	+	-	+	-	

$$S =]-\infty, 2] \cup [1, 3]$$